CHM 151 Quiz 1a 25Pts Fall 2012 Name: Xe’ﬁr

Show All Work To Receive Credit!  Conversion factors and prefixes:

G=109,M=10%,k=103,c=102, m =103, p =106, n =10 p=10",2.54 cm = 1 im,
12 in =1 ft, 5280 ft = 1 mile, 3 feet = 1 yd, 60 sec = 1 min, 1 hr = 60 min, 4 quarts = 1 gal, 2 pints = 1 quart

1. (6 Pts) Perform each of the following conversions. You must show the complete setup.

a. Conv ng 1o pg. _c{
Convert 142 ng to pg 1L/<.ngf 'P_‘ =(l#ax 0" 0% 4200009

b. Convert 85 uL to pL. 85ALL |10 z @/OW

2. (4 Pts) Assume each of following numbers are measurements. Perform the indicated operations
and then report the answer with the proper number of significant fi

a. 212.145cm + 15.1265cm + 1252 cm = 35 :l'g cm
L~}-o Fh's Placo
Y85 fise +hi¢ @1 Sig N Fieand=
b.@cmx 12.100 cm x 18.145 cm = ;;'SQ ol cm’

3. (5 Pts) A sign measures 128 cm by 45 cm. Determine its area in square inches (inchesz) (you
may ignore significant figures).

Az,é'w
(28 | | on | 45 cor| |im ﬁ
[2.59cm ] | 2.59 comr @

4. (5 Pts) How many mega-inches are in 7 kilo miles (You may ignore 51gmﬁcant ﬁgures)"

7 K |19°] 5380 5] 1N | M
L& [ 1 [T et | 106

5. (5Pts) A sample of silver ore was found to contain 0.25 % silver by mass. How many mg of
silver can be recovered 970.0 Mg of ore?

Q,_‘-/QS X/oiﬁ%

97O-OX/O€5LOV‘QI O.QSAg [ m
//oo ore [/0’3




CHM 151 Quiz1b 25Pts Fall 2012 Name: /L<€,24/

Show All Work To Receive Credit!  Conversion factors and prefixes:

G=10%,M=106k=103,c=102,m=103, 1 =106, n =10, p = 10", 2.54 cm =1 in,
12 in =1 ft, 5280 ft = 1 mile, 3 feet = 1 yd, 60 sec = 1 min, 1 hr = 60 min, 4 quarts =1 gal, 2 pints = 1 quart

1. (6 Pts) Perform each of the following conversions. You must show the complete setup.

a. Convert 667 nL to mL. 667]’7_ \}1%’% — 667)()0 écﬂ CE7X 10 9%
| lo

b. Conv o mg. -G ~3 -
Convert 805 pg to mg 805>Q£I /O J ﬁ :@SX/O o ?,’OS')(@
/»% / Jo~3 0. 0% —

2. (4 Pts) Assume each of following numbers are measurements. Perform the indicated operations
and then report the answer with the proper number of significant figures.

\[_/l'mﬁltl to Thig ’Pﬁc:f__{

a. 13.1cm + 122.526 cm + 0.052 cm = [35.7 cm
;..fm&&a/ +o 3” Sy F/Jr
L

b. 1.200 cmx 6.12 cm x 12.145 cm = $9. 2 om’

3. (5 Pts) A poster measures 133 cm by 85 cm. Determine its area in square inches (inches?).
(You may ignore significant figures) A= A+

133 e | lin | S5eK])Am
" 25754 | [ 59m

4. (5 Pts) How many Mega-inches are in 2 kilo-miles (You may ignore significant fig ?
Axiodpd | 52808E] 1A La] M 126,72 Mo
| 1px [16F | )0°

5. (5 Pts) A sample of silver ore was found to contain 0.46 % silver by mass. How many mg of

silver can be recovered 950.0 Mg of ore? O Y6 A ,
£ 7578 & et
/o Oore.
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